IDENTIDADES TRIGONOMETRICAS

. Simplificar:
a) sen 4a +sen 2d _ (Soluc: tg 3c)
cos 4d +cos 2d
b) _sen 2a _ (Soluc: 2 ctga)
1-cos’a
c) 2¢os (45°+a)cos (45°—a) _ (Soluc: 1)
cos 2da
d) 2tgxcos’ % —senx = (Soluc: tg x)

. Demostrar las siguientes identidades:

a)

b)
c)

d)

1-cos 2a

— = -2tga
sen” o+ cos 2da

sen 20, COS oL — Sen o cos 20, = Sen o

cos a cos (a-P) + sen a sen (a-B)=cos B

AN
sen a+cosa:~/§cos[?—d|

e) 2tgasen’ % +sen o= (Soluc: tg o)

f cos(a+b)+cos(a-b)

= (Soluc: ctg a)
sen(a+b)+sen(a—b)

e) 2sena —sen2u_1—cosu_1 20

2sena +sen22da  1+cosa 2

+B , a-P
2

f) sen? 2P _gen
2

=senasenf
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